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Tcapsc  MANTHA Vil |
PART -1 AT - 1
Elementary Knowledge HICT hl Ui A

of Computer

wly®

1. Cyber Riot Virusisa: 1. TR TEE AEE
(A) Server Virus (A) FeR AEH
- (B) Dos Virus (B) TIF AIIH
(€) Window Virus ) foat aaE
(D) None of above . (D) ST o g 7R

2. Which of the following is not used to 2. Freiferd o | HA-HI Wmmmmﬁ

connect to the Internet ? F f F fepan T ©2
(A) ISDN (A) EL.T. (ISDN)

(B) DSL , (B) .G8.Td. (DSL)

(C) VDU No #d3g, (VDU)

(D) MODEM O ) THeH (MODEM) b

3. Picture formats can be recogni @ 8. Zﬁqﬁ?ﬁﬁ’éﬁq-@ extension'@(f%lﬁ-w
which extension ? Tt 9gIH Bl 82

(A) -gif (A) .gif

(B) .jpg \QQ)\ (B) .jrg

{C) Both (A) and (BN (C) (A)Td (B) A
(D) None of the above - (D) ST H HE T

4, A single document on the internet is 4. WWW@W@?@TW g

called :

(A) e-mail (A) 379
(B) website (B) dHaHREE
(C)~ webpage (Q) o
(D) file (D)
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7.

,

AR)

(1 Menteni

Which of the following is not a type of an
optical disk ?

(A) Blu-Ray
(B) DVD

(C) CD ROM
(D)  Zip Disk

Which of the following printers uses dry
ink powder ?

Laser Printer

(B) Line Printer

(C) Dot Matrix Printer
(D) Thermal Printer

50

6.

f=tifoem 3 11w afra feop =45,

(A) "/‘E{ﬁ (Blu-Ray)
(B) ZELALZL (DVD)
(C) #ZL 19 (CD ROM)
(D) fam f2e8 (Zip Disk)

frerifiea # 7 #-7 iz 4 grd-erh
EXCIURG R

(A) @ Tz

(B) = fyer

( #fzam fizt

@mfm

Which of the following statements m@ frafafaa § 4 #F-71 #4799 ©

correct ?

(A) CD has more memory th@
(B) DVD has more me@an cD

(C) CD and D@mc memory

(D) None of above

Yikien one of the following is not an
aeabsirus softviare 7

(hy) Mehled

0 Opera

(Cy Crriey. Heal

8‘

'ﬂﬁéf F1 BH 2112, | afvs

(B) ZE.2 FF qurd |21 | aAfaes g
A
@

(C) TZ, aqr 2 A, F weH BE
%
(D) o # g Tef

ferifea Areedgr 9 HH-| TEEEE
TRAIL T &7

(A) AHE-TH (McAfec')

(B) S (Opera)

(C) i e (Quick Heal)
(D) 11 (Norton)

G4h

ALK FOI MOUGH WORK /1t aid @ ferd wmre

1012/ UE-24/RCEM



9.

What W
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S \ SRR

#

( ,\) LA it

®)

10.

: R T N A\ ; \
Which o TR AR R Q& et wsed

y ..M\“\'\‘ BN

.’t \ \

@ S
D) VW

W \\\ RN

\\_‘\‘\ \\\\\. k \

10,

on the IRt

(A)
B
©
@)

11.

Which & 8 X

AN

AN
S
ANs

--'Q-
‘ \

£L3

fowoms = ek 2 internet

~— - -

11.

SeTvICe ToTRCET ©

(&)

®)
J
o

(A) UrL
(B) 1P zddres

©
(D)

13.

Which of g £
type printes %

) .2

N

Wes addre

T

None of zbove

HINWG, iy g 9] Wtigiae 14,

(A) Drug, Priydey

(B)

C}llﬂn ;’UH’AI

©) Band Vripasy

(D) wa:,fﬁ,/ Tk

AttaVista @@ m?

5
/
-

() |
(N wERR - MO, e
() wdl &

(D) fafe At wam

frafafaa ¥ @ FF-T1 IRE 320 W
e R s 82
(A) TEEE Sol o

e
(B) TCP
(C) ITU
(D) PPP @
ﬁﬁ@@aﬁmms-—aﬁz ol 2 =

% 1. 0. . T

e EaTwas *
) Niwe of e 6

12 Every infermes cormenting poing ’\\

(C) YR Yo
(D) SR ¥ HIE 781

- - -
gaam SE@E DK TS ST <S5 —

7 S
(A) I IRTS.

(B) TR TSR

(C) “aTusH

(D) WA TR =T

frafafaa 3 ] |“-<-, xuqr IRT /X :\‘
%7

(A) TH WX

(B) =@ SR

(C) dug WX

) ST S

WREET il i 0,01 Wi ] 1% o & fort e
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~ 4. Inthe e-mail address hostop@yahoo.com, 14 -9 TG hostop@yahoo.com g hostop

hostop is known as : 7 FEA T ¢
(A) password RO (A) TEaE
(B) client computer (B) I HPIX
(C) user name (C) TR
(D) server name (D) ¥R A
15. Which of the following is a 15. Frfafea d & -a ' ier " &2
“Page Printer” ?
(A) Inkjet Printer Qﬁz X
(B) Laser Printer () (B) oK fix
(C) Dot Matrix Printer Q (C) gle #fgem X
Q) S A

(D) None of above *

16. Telephones use which _,of owing  16. fawAH frafafad # & forg HER SIS

Communication Te o : 1 SYAN fohaT T 872
(A) Analog signaldé\ (A) TR Tare™ :
(B) Digital s)@ (B) fefsea fare@
(C) Electrical signals (C) waifesa fare™
(D) 3w H g TE

(D) None of above

17, fr=fafed 9 @ sa-ar smqfen fawd

17. Which of the following operating system
W fRH FPX Al gRY i & 7 2

software is used to start a computer

system ? # T S §2

(A) MS DOS (A) TTE. T

(B) UNIX (B) Ifr

(C) WINDOWS (C) fae=

(D) All of above (D) SR T ‘ i

" SPACE FOR ROUGH WORK / T% @Td & fad wmg



18.

19.

20.

21.

22.

is not a function in MS Excel.
(A) SUM '
(B) ADD
(C) MAX
(D) SQRT

What is peripheral ?

(A) A Device connected to a computer
(B) Paper in a Printer

(C) Website

(D) Software

Ce6PCC " MANTHAN

.gif stands for :

(A) Graphics Identification Format
(B) Graphic Interchange Format
(C) Graphic Identity Format

(D) Graphic Interface Format

The maximum limit for sending%6 21.

through e-mail at a time is : O

(A) 25kb
(B) 30 kb
(C) 20kb
(D) None of above

In which of the following medical
examination, computer or computer
pheripheral is used ?

(A) X-Ray

(B) Ultrasonography

(C) ECG

(D) None of above

18.

19.

20.

MS Excel T
(A) SUM
(B) ADD e
(C) MAX
(D) SQRT

Afirra (afeda) 1 acad F @2
(A) wFgR | <irer T feard
(B) fiiex # @M AW

(C) w=EmEe

(D) HREW

gif T

(A) aﬁ%ﬁm e

K
S e

22,

-7l N T aR | Fgad 911 bl SAfrehad
87

(A) 25 &AL

(B) 30 .4l

(C) 20 %=

(D) WK H g Tél

fAfafea § @ fra fafreda Wi § 7Gx
e S YA 1 ST T S
27

(A) TR -

(B) STegrEHITH

(C) ZHLSR.

(D) I9RAH H B3 &
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23.

24.

25,

26.

Which of the following is not a function
of “Operating System” ?
(A) To control Input output devices.

(B) To select appropriate software
requested by user.

(C) To allocate computer resources
such as memory, CPU time etc.

(D) To translate high level language
into Assembly language.

Multimedia means :

(A) Picture

(B) Sound

(C) Animation

(D) All of these
capsc MANT

What is the language of tH\@?
(A) Java &

(B) C#
(C) HTTIP

(D) HTML

Which of the following translates High

Level Machine

Language into
Language ?

(A) Assembler

(B) Compiler

(C) (A) and (B) both

(D) None of above

23.

24.

25,

26.

" amafifen fawe = Fefafas § 2,
% T €2
(B) TR F B IIE M SUTH Hea

el

(C) 7R F FHET 99 TN, iy
IEH A eAEfed HE|

(D) T Id aEs H THEE A §
Zaee FE|
faeer (o)

(B) qre=s (&)

(C) THMERE (Hsfre)

(D) IR gl

99 T G HA-E §?

(A) <@ (Java)

(B) & &9 (C#)

(©) WA (HTTP)
(D) TIATATE. (HTML)

Frefafan 3 3 Br-w o oo dmw =
~ \%\\‘ﬁ“. § %

(A) TEer
(B) FHEeR
(©)  (A) T (B) SFi
(D) ST F HE 75

SPACE FOR ROUGH WORK / T% &4 & ol wrrg 2



27. Using MS-Excel to ‘Edit’ a ‘Cell’ you  27. MS-Excel &1 S9N Fd 57 foet ‘Cell’
should press key : ! ‘Edit’ 1 &g =T A 6N
gl
(A) F2 (A)--F2
(B) Alt (B) Alt
(C) Shift (C) Shift
(D) Enter (D) Enter
28. A computer works in the sequence of : 28. HTHE & H HL I HH ®:
(A) Input-Output-Process (A) TIR-AReYe-THd
(B) Input-Process-Input -¥de
(C) Input-Process-Output @Tﬂ - SHISTACE
(D) Output-Process-Input g) SIISEA Chg ~TEg- R ¢
S
29. What is You Tube ? %Q - H §?
(A) e-mail \Q (A) 399
(B) video maker website ¢ O (B) fadta A= RS
(C) video sharing we 1@ (€ T vrafin derwre
(D) video softwar \b (D) fon Hirear
30. Which of the following is an output  30. frafafad § ¥ SH-W TReye feary 8?2
device ?
(A) CPU (A) €437,
(B) ALU (B) TTAZ,
(C) VDU (C) dEig,
(D) RAM (D) SIRTTH.

SPACE FOR ROUGH WORK / % & & ol S8
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1,

Which of the following is not an open 31, fr=ifha § | FH-T TEPR A B
source operating system software ? e faen areaa =6 22
(A) Ubuntu (A) a9
(B) Free BSD (B) W Eﬁﬂ!ﬂ.@"’f.
(C) Open Solaris (C) 3T SR
(D) Macintosh (D) A2
32.  Which of the following requires internet ~ 32. frefafad ¥ | fFas g9 & fau ==
connectivity for access ? 1 EvaFHdl Tt £7
(A) Facebook
(B) Twitter Oﬁaﬁ
(C) WhatsApp Q tC) EICAS L
(D) All of above *O
33. A software that is used to ha 6ur 33. 37U HEIX TS IHeh! GU&T I ThHEM Tg=IH
computer, its security or’ @ed in I I iafaiEn $ R ¥ WgE
criminal activity is called @\ HIHAA i HEd § :
(A) Adware ’& (A) TSAW
(B) Malware (B) WA
(C) Shareware (C) VAW
(D) Freeware (D) TR
34. To open ‘Find and Replace’ Dialog Box ~ 34. ‘Find and Re:place’ ST e HI @l
the required function key is : ¥ OIS HRE FE
(A) F2 (A) F2
(B) F5 (B) F5
(C) F7 Q) F7
(D) F4 (D) F4 3

SPACE FOR ROUGH WORK / I& & = faa sme



35.

36.

37.

38.

Which one of the following is an impact

printer ?

(A) Plotter

(B) Laser Printer

(C) Inkjet Printer

(D) Dot Matrix Printer

To start a computer it needs :

(A) High Level Language

(B) Low Level Language

(C) Operating System Software

(D) Application Software

When you press F12 key in MS Word :

(A) ‘Save As’ Dialog box is op%@
(B) ‘Save’ Dialog box is oper@

(C) ‘Print’ Dialog box is@

(D) Current docun&'s closed

In which one of the following is volatile

memory ?

(A) Printer

(B) Pendrive

(© DVD

(D) None of above

fr=rifera W @ fFA Impact Printer ("ﬁ}iﬁ
i) wea §7

(A) X

(B) R fiiX

(C) ¥ fi

(D) i Afged i

FIR AR A ok e ST

(A) 39 @HT W

) = Tl

(Q) fa=y TR
IR

%SWordmﬁmmﬁWFlz

I A W :

(A) ‘Save As’ TTATIM ST Gerdl ¢ |
(B) ‘Save’ SR werd Gerdll €|
(C) ‘Print’ ST ST et § 1
(D) hreRa SrRTHE =< Bl ST & |

freqfafga & € frg ¥ aaREa aad
( sreart =) §7

(A) fI=

(B) W g

(C) |

(D) Wi ¥ g TR

4012/UE-24/RCE-M
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39.  Which of the following devices is a type ~ 39. fr=iferd d | wE-w fear@ & fim H

of printer ? YHR §?
(A) Thermal Flat bed (A) uid w9
(B) Cathod Ray Tube (B) FATYTE
(C) Liquid Crystal Display () fafws free feaw
(D) Light Emitting Diode (D) wrée ufafén sre
40. WYSIWYG means : 40. WYSIWYG 1 arcd & :
(A) What You See Is What You Get (A) at You See Is What You Get
(B) Where You Sit Is Where You Get &ere You Sit Is Where You Get

(C) What You Say Is What You Get . What You Say Is What You Get
(D) What You Show Is What You Get %\’ (D) What You Show Is What You Get

O

41. To start a slide show using Mﬁ 41. MS Power point ¥ fret ' TTgS ¥’ <l YR
ed.

point key should FA 8 9T h! TN ST B

(A) F2 ¢ 0 (A) F2
(B) F3 Q)\ (B) F3
(C) F4 ’\,\Q (C) F4

(D) F5 (D) F5

Which of the following is a primary  42. fretifra # | FH-9 IEEd AEA 82

42.
memory ?
(A) ROM (&) ™
() CD ROM (B) WISt AW
(C) DVD (C) St
(D) Flash Drive _ (D) T SRA

SPACE FOR ROUGH WORK / & & & fed e

Set- B . 12 4012/ UE-24/RCE-M



43. The tool which helps us to find 43.
information on Internet is called ?

(A) Search Port
(B) Search Engine
(C) Search Station

(D) Search Party

44. Which of the following is a word 44,
processor ?

(A) MS Word
(B) Word Star
(C©) Word Pad
(D) All of above

45. Tiny dots comprising a picture are called @

(A) Images Q

(B) Pixels
(C) Matter ’\'\Q@\

(D) Points

46. A computer actually understands : 46.
(A) Machine Language
(B) High Level Language
(C) English Language
(D) Assembly Language

T W YEARA W I F ¥ 9IH o
H FEA 82

(A) TEUR
(B) ¥H $H
(C) ¥4 ®yH
(D) =

fr=afafea 4 4 sF-1 98 9w 8?2

(A) THTE TS
(B) =

.QCAW

ﬁw(ﬁa/awﬁ?)ﬁ—aﬁ%mﬁﬁﬁﬁ
B T IWEEAE |

(A)
(B) foericE
(C) #X
(D) wE=d

HFF Td H T ©
(A) TR

(B) I WG W™l
(C) Ut wro

(D) TEwT A

SPACE FOR ROUGH WORK / 1% & & i w8
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47. Software that prevents, detects and
removes destructive programs is called :

(A) Worm

(B) Trojan Horse
(C) Antivirus
(D) Virus

48. Computer virus 1260 is an example of
virus.

(A) Boot Sector
(B) Macro
(C) Multipartite

(D) Polymorphic
capsc MA\\’T

47,

48.

@0)

49. Which one of the following is 1nput 49.
device ? ¢

N

(A) Plotter
(B) Mouse
(C) Scanner
(D) Keyboard

50. The most essential base for computers is :
(A) Transistor
(B) Binary arithmetic
(C) (A) and (B) both
(D) None of above

50.

BRI AT Bl Tl ST T 15
mmwﬁamﬁaﬁmﬁm
€

(A) @M
(B) g e
(C) T3 aE™
(D) 9™

1260 AF FEAX GG _________TW
F 1 IS0 B |

T
Tzl

(C) WRIIETRE

(D) iciHIRh®

frefafaa & @ -1 37y feagy 74 &2

(A) IR
(B) T
(C) T
(D) HI-dIS PP

FP h1 HIY HEAYU] SR R
(A) gifEex

(B) Tl eHemivm

(C) (A)an (B) S

(D) SR | HrE &

SPACE FOR ROUGH WORK / TF &T& & fordl wig

Set-B
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T L 56, UHUE HHA-91 THH 82
mnm%‘«ﬂ (A) FH
(B) e
51, MAT-FHAFE? (C) FerfivE
(A) R = (D) 5%
(B) HEW =M
) T 57. e oot & wri g Hen d -
(D) W oH5H
(A) 14
52. 'SWIR' o wEigereh ® 8 16
(A) ﬁg"] O 11
(B) =& (D) 12
€ T
D) 9w wsft 58. ‘waifus W Y 39 A
fou 1 9949 i ¢
53. T ¥ HH-1 WS Ageeq A € VIR o !
??
(A) e
(B) a3 % —
(C) wm 6 )
(D) S9gx |+t
\ 59. I W hH- ST T 87
54. ﬁwﬁf@ﬁﬁ%ﬁ?ﬁﬂw@ (A) T
(A) S (B) &
(B) (C) =a
(C) dEER (D) 9
(D) g
55, Freiffion 34 wd ad PR - 60. ‘Tior’ ¥re3 1 W et gf
(A) (A)
(C) afevht (C) wH=
(D) el (D) forra
SPACE FOR ROUGH WORK / 1% &g & fo& sg
4912/UE-24/RCE-M / “ , 15 Set - B



PART-11I1 - . 63.

ey ~naGeneral English

61. Everyone of the men present here has
given a day’s pay as
contribution to the fund.

—— e e e e e

(Fillin the blank with suitable preposition)

64.

(A) their

(B) his

What is the time ________ your Walc

(Fill in the blanks with Suitah),
preposition)

(A) by
(B) in
(C) at
(D) none

Tick the word that is most nearly the sam
in meaning as the word in capital,

ROON &y SIUt#

N () A) Honesty >

C) her \0
(&) OQ

(B) Soldier

(C) Tavern

(D) one’s
é D) Coward

L
62. Tick the correct for%Qrd. 65.
)| @Mg for him for a long

time.
(A) am
(B) was

(C) have been

Who is creating this mess ?

If the voice is changed the sentence will
be :

(A) Who has created this mess ?

(B) By whom has this mess been
created ?

(C) By whom this mess is being
created ?

(D) By whom is this mess being

(D) none created ?
SPACE FOR ROUGH WORK / T& &/ & fod e E
L
()M‘)L o €3> d ()
=
e S % g4, d |
"Set- B YRR® 16 ¢ . | 4012/ UE-24/RCE-M
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66.

67.

68.

tAA) Praise '6*(?)[: TR O

“I don’t know the way, you do ?” he

said.

If the speech is changed the sentence will

be:

(A) He said that he didn’t know the
way and did I know it.

(B) He told that he was not knowing
the way, but wondered if I knew.

(C©) He said that he didn’t know the
way Idid. ~

(D) He asked me if I knew the way
which I didn’t.

Tick the word that is most nearly the
opposite in meaning as the word in
capital.

OBLOQUY &ctin —Xzarl)

N8
N

(B) Rectangle

*

(C) Circle
(D) Dialogue ,\'\Q

rich should be merciful.

(Fill in the blanks with suitable Article)

S

69.

Tick the correct one word substitute.

A decision on which one cannot go back
is

(A) Invulnerable
(B) Incorrigible
(C) Irrevocable

(D) Jafringible

RS
O

70. Open the door.

Changing the voice the following would
be obtained :

(A) The door is to be opened by you

(B) Let the door be opened

(A) A

(B) The (C) Please the door be opened
(C) An

(D) None (D) None of abqve

cc- &
- }
(7. G To -
4012 / UE-24 / RCE-M ’
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71.

72.

73.

PART - IV
Elementary Maths

Y

e
*

By selling a stool for Rs. 67.50, a c'ail:penter

YT - IV
YRR o

71. UF 98 B TH TA 67.50 T F A
loses 10%. How much percent would be 10% =17 Brelt €, < 39 82.50 T9 H e
gain or lose by selling it for Rs. 82,50 ? fepa wfevra @y & g1 & ?
y @) IC\’ .
(A) 13% é.,( vyﬁ ) 13%
By 10% (D) J x (B) 10%
Q) 7% o, (C
D) 15% T3 k9
( ) 9 7 { , g/ 0@ 5 A)
What will be the cost of whitewash of a \ 5 Hex o 4 HieX ?ﬁ% Td 3 HieX 9 FW
room having length 5 m, breadth4 m a 1 TR 1 AT H1 @ 5 T i 9 HR
height 3 m at the rate of Rs. 5 'h% % fea | fran grm?
meter ? Q
(A) Rs.220 '2\? 2 ) (A) 220 %
(B) Rs.450  _ ), (B) 450 .
_(€)" Rs. 270 \ - % ¥ (C) 270 %.
(D) None of above «« 3 , D (D) TR H I e
Three wheels complete 20, 30 and 40 73. @ 9feq W e | 20, 30, 40 TR R

revolutions in a minute. If they start from
a certain position by what time they will

come in the same position ? "

gar > /' ' -:
(A) 3 Seconds >
(B) 4 Seconds AN

v,_,(C'j‘W 6 Seconds
(D) None of above

€1 g 9 fordt T fade o @ wwm
A=l ferat S 9 g S e
37 SR ?

(A) 3 Hhs

(B) 4 ¥Fhe

(C) 6 The

(D) STH F H 7at

SPACE FOR ROUGH WORK / T% =14 & fodt wirg
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74.

75;

76.

77.

If the
number of students increases by 10 then
its monthly expenditure increases by

There are 40 students in a mess.

Rs. 2000 and the average expenditure per
student decreases by Rs. 200 per month,
The original expenditure of the mess per
month was :

(A) Rs. 48,000

(B) Rs. 50,000

(C) Rs. 46,000

(D) None of above

In a certain party the ratio of boys to girls
is 5 : 3 respectively. If 10 boys leave the
party the ratio becomes 1 : 1. Then how
many persons were there in the party ?

74.

75.

fapedy a1 40 faendff €1 afg ferenfuiat
wem 110 = gy vt 8, e miw om i
2000 %, # gfn Bt & am afa frendt 0
mifaes siaa =1 200 %, F9 5 5§ @ g

ira o e faman mfa® 21 w417
(A) 48,000 %.
(B) 50,000 %.

(C) 46,0003
(0) w@ﬁw

K H oighl Td aefwdl H AT
.33 afz 9l 4 10 d5H = S

oS q91 ASfRdl H AT 1:1 @
O@m%:qﬁmﬁamﬁmm

(A) 32 - —\o o s % 20

(B) 40 S Laar’w o

(C) 48 \b (C) 48

(D) 64 (D) 64

If each edge of a cube is i @Sby 50% 76. afe ferdll B 1 TH EﬁTﬁSO%WﬁTﬁI
then its surface area &%sed by : ITF T8 & IR i TI?

(A) 50% Ve & SYX U (A) 50%
{B]" 125% s \ (B) 125%

(C) 150% (C) 150%

(D) None of these (D) SR H AIE TE

The length and breadth of a cuboid are 77 7fg fEdt BN @ TR T GeE H 20%
increased by 20% and the height is F1 gfig 1 It & qu FaE H 15% Bl FH
decreased by 15% then what is the change F A T A 9% omaaa | faa m
in volume ? 200w+ Yfer= grm? S e
(A) 13.4% = (A) 134% = A4®-10——7
(B) 13.2% 2.5 4 207 (B) 13.2% Y-

(C) 12.2% ” ‘..‘\ ¢ (C) 12.2% =%

(D) None of above ~ (=} 4> D) SHE HwE T -

[ S N .. U

\ vl



¥

78.  The wheel of a car of radius 1 foot covers 78. U& R 1 ufed IEGEIRES B TR W
a distance in seven cycle : TRt A et T R
(A) 22 feet \ , (A) 22 B2

2 M A
—(B) 44 feet = L (B) 44 BT
(C) 11 feet | (©) 11 B2
(D) None of above (D) IR § HIE e

79. The cost of petrol increases by 25%. By 79. U2 H A T 25% gfa Tt §, 3Ty
what percent consumption should be H yferd @l &l @R W {5 Fa o
reduced so that the expenditure is same ? w?

&) "20% 2y o 10 20%
(B) 25% Tdatg P QB 25%
(©) 15% % (C) 15%
(D) None of above O (D) ST H hIg Tal
CGLPLC MANTH '

80. A person travels 285 km by bus  80. 3fS U =afeq 285 fnHl. ST A ag | 6 W
in 6 hours. He travels by, e speed H A A ¢ | Al 98 Yed 99 | 40 fH.A.
of 40 km per hour. In nd part of g 5 % THRR 9 a1 297 | 85 TRt wfa =
the]ourneyhetr@ the speed of HIRR AW A TS LA a8 e 9
85 km per hour uch distance does fraft <0 T ar 82
he travel by train ? 40\{6 >Ry > 240k
(A) 85km (A) 85 T,

(B) 75 km (B) 75 f&.H
(C) 70 km (C) 70 fe.A.
(D) None of above (D) SR H $IE el

81. The sum of two numbers is 144 and their 81. T 3ih FHIAM IM%HWWWW
LCM is 420 then the smaller number is : 420 Tt DY 3{F B
(A) 60 agquwal - (eAamawsnn (adn@ (A) 60
(B) 70 4‘?;;7 (D) (8) 70
© 3 . gaws o\ © 35
(D) 42 0o = 42D = & (D) 42 ya




82, & ) ot i

A B
What is the figure drawn above ? iy el v foea wen 87
(A) Parallelogram (A) anfae i
(B) Trapezium (B) e KILE
(C) Quadrilateral ' (©) =i 2! 'A o

(D) Rectangle (D) -3'{m€l® " A

83. The age of two persons arc in the ratio  83. o '0%’41 %) 39 H AIIA5 .7 &1 AT
5:7. Eighteen years ago their ages were 1 ST I 1 ST 8:13 411 IR
in the ratio 8: 13. Find their present ages. O 7 3G R FIFIG |

(A) 40, 56 6 (A) 40, 56 ﬂ_’,\@ - : %, )]
B) 45, 63 A\Q) ®) 45,63 ';’7\:\? L octn
©) 65, 91 : ’\0 © 650 < ”f L,\ o
(D) 50, 70 ;&\Q A1) 50, 70 iy iA . 0

84, A straight line can cut a curve in ; 84, UH TET T U a6 I Hred ¢
(A) o point () forelt firg w2 e
(B) one point | ) fug W

__(€) more than one point (€) w4 siftrer farg W

(D) any of above (D) 3 ¥ hrg o)

SPACE FOR ROUGIH WORK / T wTd % et wrmg
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85.

86.

87.

In the following parallelogram ABCD

TS S S I X S - MR G S S

g5, frafafad mfar_ =¥ ABCD 3

D/ ) C D%NI\/ :
A B ’ A B

if X~ Area of the AAMB ‘

Y - Area of parallelogram ABCD then :
(A) X:Y=1:2

(B) X:Y=2:3

(C) X:Y=1:3

(D) X:Y cannot be determined
If a person takes loan of Rs. 9000/- fro ‘\SG)

two Banks A and B at the simple int
rate of 5% and 7% respectively. Ifimntwo

years he has to pay Rs. 954 as i then
the amount of loan obta@m each
banks are : . Q
(A) Rs. 1350 from @ss

Rs. 7650 l% k
(B) Rs. 7650 fagin Bank A

Rs. 1350 from Bank B
(C) Rs. 2000 from Bank A

Rs. 7000 from Bank B

(D) Rs. 7000 from Bank A
Rs. 2000 from Bank B

The length of a side of cubical vessel is
4 meter. What is the longest possible rod
that can be kept within the vessel ?

(A) 4 meter

(B) 4.2 meter

V(e)‘ 4./3 meter

(D) None of above

87.

Ife X - AAMB &1 &% §
Y - it =4S ABCD 1 &% £ 3
(A) XeY=1v2

X:¥Y=2:3
( X:Y=1:3
(D) X:Y SRl &l foha S Hehar
T SAfH It A A TUB | FHAWM: 5%;
7% HIURYT ST 1 X F 9000 T. F 3
Far R 9l < ad # 38 @ w95
ST HMT IS § O T Seh § I f
T 0T I ?

(A) A9 U= 071350 .
B & W< U 7650 ¥.
(B) AW U« 97650 T.
B & I 97 1350 .
(C) A9 9T 972000 3.
B ¥ W k91 7000 <.
(D) A3 W< 7000 %.
B ¥ I 9T 2000 .

TF TR 7 g o a4 7
W ST sifrerifir fpart e F1 7€ T
ST |l §7

(A) 4 =

(B) 4y7 =

©) 43 "X

(D) ST # % 7ef o

ﬁy‘\
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g8. 5% of .03 is what percentage of 0.05 ?

A) 3% y )
= 2 %03

® 30%  jent

(©) 03% Lo

(D) None of above

89. If the radius of a circle is increased by
1 cm then the ratio of new circumference
and new diameter will be :

88. .03 %1 5%, 0.05 &1 foraen wfaea grm?

(A) 3%
(B) 30% A
(C) 0.3%
(D) SR ¥ 1S TEl

§9. ufa Tk ga 1 fean 1 3., =g e @ g
= 7% qfRfy qen T AT ST 8

AK) w1 Cln ?AY (A) m:1
® (eliw e 27 B) (mt1):
© (421 = T @@
Z (AN )
(D) (%—1}1 @{%!-1);1

90. If in the following triangle AB=AC and

ZABC=50° and AM is perpendicular
BC then ZMAB is :

O
&

(A) 60°

(B) 50°
~C) 40°
(D) 30°

. gfe fa=fafaa fas1 8 AB=AC 491
Z/ABC=50° T8 AM, BC WX & &
/MAB®T :

(A) 60°
(B) 50°
(C) 40°
(D) 30°

SPACE FOR ROUGH WORK / 1% @&rd Ua; fea srrg
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T — A S R G O L P e ~~

PART -V HIT -V

General Knowledge " Jq™
91. The percentage of earth’s surface 91. wmﬂﬁﬁ?ﬂmﬁmm%
occupied by India is : 2?
(A) 2.4 AA) 2.4
(B) 3.4 (B) 3.4
€) 4.4 (C) 4.4
(D) 5.5 (D) 5.5
92. What was not the main objective of first o U AT 6 H& Ie¥d 3
five year plan ? é)
(A) Focus on Agriculture Q (A) Y R &AM Hf=d FT
(B) Rapid Industrialisation O (B) i sitenfirentor
(C) Price Stability é (C) ¥ea feeran
(D) Transport Q (D) uREed
O
93. At which place the @X sepoys first 93, g T ¥ 1857 3. # wRdlg faufedi
revolted in 1857, Tavay fage foran?
(A) Meerut O&\) S
(B) Delhi (B) faeett
(C) Lucknow Q) <@ s
(D) Barrackpur APY TER
94. Which battle was fought between 94. 15657%. ﬁﬁﬁWﬂWﬁmmﬂﬁw
Vijayanagar Empire and Deccan Muslim T4 & =99 Far g5 e T
states in 1565 ?
(A) Battle of Talikota \—(K) TR ] T3
(B) Battle of Raichur (B) T I35
(C) Battle of Kovilkonda (C) ifaerpiar =1 I5
(D) Battle of Udaigiri (D) 3T =1 L Ce
P

CPACE FNR ROUJGH WNRY /7 7t =roF = £ ————



95.

96.

97.

98.

Which of the following is not a kind of
Cabinet ?

(A) War Cabinet

(B) Parliamentary Cabinet
(C) Kitchen Cabinet

(D) Shadow Cabinet

Who was the chairman of the third
Buddhist Council held at Pataliputra
during the reign of Ashoka ?

(A) Mahakassapa

(B) Mogaliputta Tessa

(C) Purana Kassapa

(D) Pakuda Kachchayana

95. = H Q HF-91 af=Hvsd F1 TH THR 6
2?2

m&“{ engsr
96. 3T9NS ﬂ? IEAETE § uRfagd | A
Jdr se griifa 1 gemafa i a1?
MsEnga Marka mipey vocle Gl
(A) TMM_C\CZ}'CV\,‘.A YU C.f(: 5-‘:;()‘61
, (BN =
¢ WA HEY
Il HEEA

Michael Faraday was related @97 ‘TIEW ¥ form aifashR & fag 9R <

discovery of :

(A) Nuclear Reactor

(B) Quantum Prln@@
(C) Electro Magnetic¥duction

(D) Gravitation Principle

If the Cash Reserve Ratio is reduced by
Reserve Bank of India (RBI) then credit
facility will

(A) increase

(B) decrease

(C) have no impact

(D) None of above

(A) i wigal
(B) =arcH fagid
ey~ o geiehta I
(D) TRy fagia

98. g wRdra fisd & (RBI) g1 &9 fimd
A %u T S @ o gfaun

AR) =
(B) FHEM
(C) WHE 9uE & B
(D) 9 | g &

SPACE FOR ROUGH WORK / 1% & & foa srg



99.

100.

101.

102.

At which place the trial against the Indian
National Army was held in 1945 ?

(A) Victoria Hall, Shimla _
(B) Gateway of India, Bombay
(C)  Viceroy’s Lodge, Shimla
(D) None of above

Who is the inventor of “X-Rays” ?
(A) Sir Humphry Davy

19455.5"W%m%m%&
m,ﬁmm&mgan?

() e i, R

() A aw s, T

(C) mﬁam,ﬁmm

(D) 3R H HIE Tl

99.

100. um_muﬁ" ¥ Afaerra €
TRl et

(B) W.C Roentgen . (PLC M ANT@Y e

(C) Max Planck
(D) None of above

©
Laws of hereditary was g\@%

(A) J.C. Bose

O
(B) Charles Darwi \

(C) Mandliff \
(D) Gregor John Mandel

“Dalli-Rajhara” hills of this state are
known for which of the following ore

mineral ?

(A) Bauxite
(B) Limestone
(C) Iron ore

(D) Tin

4C) A wich

%‘ (D) S # ¥ HE T

101. 3FEiERd & o 1 STfaans £
(A) w8 €/
(B) =IeH sIfdw
(©) #Avseitw
AB) IR W Avew

102. ER s W_mnﬁwf‘s;ﬁﬁﬁ
ST ST 3 feg e e 22

(A)  Terree
(B) = w1 e
@) e-srrep
D) fem

SPACE FOR ROUGH WORK ; o o= —
F % oy
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103. Whena body is immersed partly or wholly 103, 54 & a7 fwd za ¥ T el g
in a liquid, there is an apparent loss in Seft & @ Ik A 5 A B g
the weight of the body, which is equal to T2 T B R 'm’“ i’ﬁn‘ 2, g'q itl I
the weight of liquid displaced by the body. 1 gfaare fpie FWT'
This principle was proposed by :
(A) Archimedes «(’AT sk fEtst
(B) Pascal (B) WERd
(C) Bernoulli (C) e
(D) Newton (D) =geA

104. Which of the following is not a part of 104. =9 5 Q@ FA =g yEinlizeceeEic]

National Democratic Alliance. (NDA) ?
()

(i)
(1)
(iv)
v)
(vi)
(A)
®)
©
(D)

Rashtriya Lok Samta Party
Nationalist Congress Party
Kerala Congress

Naga Peoples Front
Jharkhand Mukti Morcha
Lok Janshakti Party

@H @@ ©)
(@) @) (V)
@H ) )
(@) () (V)

| 5&*
7))
NN

. Who was the first Judge against whom
removal proceedings were initiated in

India in 1993 ? Q p
» Clralrp " \' A
Soumitra Sen ~7?
(A) loi56 Sohacts

(B) ¥/ Cea Yo ;16*“
(C) C.Ramulu Tyet

C. Ramaswami

By V. Ramaswami ~

105.

FR@vs g A=l
RIERCEHIEER G
@) @) (vi)
(i) @) )
(v) (v)
(iii)  (v)

(vi)
(A)
(B)
@

© 0.
(D) (i)

mﬁw%fimmtﬁm%mqaqﬁ
T IR fwan ma an?

(A) wifea &
(B) HI. IWrET

(C) 4. Ig
(D) . T

27
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106. Wm%ﬁ,ﬁmw a8 3¢

106. What is true about Rajya Sabha ?
: . '{T@ T -4
(Second Chamber of Indian Parliament)
(1)  Itcan’t be dissolved (i) Iz 9T ERCRIASIRSCLI
(ii) It's tenureis 6 years (ii) gl FHTdhId 6 &Y a1 g1
(iif) It’s tenure can be extended in (iii) m{ﬁﬁﬁ‘q’ﬁma@im;
emergency 1
(iv) It is a permanent house vy TR Tl §&A B
(v) Itis presided over by Vice President Aw) EETi T ST STEAAT HT 7
(vl Anglo-Indian - members are gt & B T IRATG 9 7
nominated by the President. () frd A B 1
Ay @ @ () %\’ (a) @ @ ()
®) @) (@) ) * @ @) (i)
© O @ @ - 6 (C) G @) )
D) @) ) (v Q)\ © @ © )

&

107. The International boundary between
India and China 1s:

(A) Rad Ciiffe Line
() Mc Mahon Line
(C) Durand Line

(D) None of above

107. RA 991 919 % 99 F<Re™ 953 ¢

(A) = e arg
Mﬁ*%m
© 3= o

(D) W= 4§ =2 55

SPACE FOR ROUGH WORK / & &g F fop
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108. Dr. MS. Swaminathan is known as father 108. T1.UH. TH. @A, T & T H HH R

of : g

(A) Yellow Revolution (A) o shf
(B) White Revolution (B) ¥
(C) Green Revolution My &R shif
(D) Red Revolution (D) < Bl

109. Who is known as “Father of 109. fm= d ﬁ@i\aﬁﬁwmﬁm GEED)
Biodiversity “ ? mr@

(A) Edward O. Wilson . Y TEFS 3. faemm

(B) Alexander Fleming @ ) STAFIST TRATHT

(C) Robert Kock Q
(D) Ian Donald é\o (D) M SHS

(C) TR Hisw

110. According to censugoq what is the 110, SFUAT 2011 & IR BHAWG § FEEA
percentage of population growth in gfg =1 afawe 0 8?2
Chhattisgarh ?

(A) 19.61% (A) 19.61%
(B) 20.61% _(B) 20.61%
(C) 21.61% (Q) 21.61%
(D) 22.61% | (D) 22.61%

SPACE FOR ROUGH WORK / T& &rd & fer&l g
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PART - VI
Current Affairs

111. The first ‘All women’ Bank of India
Bhartiya Mahila Bank (BMB) commenced
its functioning in the following year :

112.

113.

114.

(A)
(B)
(©)
(D)

2012
2013
2014
2011

The first sanctuary of Migratory Birds in

of the following dam ?

(A)
(B)

(©)
(D)

Gidhawa dam
Kharun dam
Kerva dam

@*

None of above

The present Goverm@\ls state has been

chief mlruster& ich of the following
state ?

(A)
(B)
©
(D)

Punjab
Haryana
Uttar Pradesh
None of above

Which of the following will be a
beneficiary state of Polavaran project ?

(A)
(B)
(©
(D)

Telengana
Andhra Pradesh
Chhattisgarh
All of above

0

HAT - VI

gaamtas faug

111, Werd STt A ST A S

113.

114.

_AB)”

O

this state is proposed to be made in which ()

¢ @ . g feRan?

(A) 2012
2013
(C) 2014
(D) 2011

T 1 JaTEt vl foeR ety
fopg =Ty IR AT ST WA 22

() Trean sty
(B) WrEA §iy
(C) T Ay
(D) SHad H g TE

3 9 & IdH T9UTe Frefafas
TV % I W@ §7

(A) o

(B) @

(C) ITRUY

(D) 3R H wig &

Frefafea 4 ¥ -1 v G|
T A Yrqehst 2i?

(A) T

(B)  figmayy

©) ofur

(D)  Swre sft

SPACE FOR ROUGH WORK / T o8 & s




115. For how many days Monsoon Session of 115. {78 & § 38 T3 F faum 9wy =1 ey

Vidhan Sabha was held in this state @ = 3mgA o= g
recently ?

(A) 5 days (A) 5f=

(B) 6 days B) 6f

(C) 7 days () 7f

(D) None of above (D) ITUF § HiIE T80

116. Booker Award may now be given to the  116. WW A9 UR A o s EFa
persons of :

(A) Any nationality

(B) Commonwealth Country
(C) Britain.and Ireland

(D) None of above

117. Which of the following countries did n0®7 frefafes A & fra a3 ' dea - T -
sign Central Asian - Nuclear - Wea fRTa - A9 - I - A W' gaeid

= Free- Zone Treaty ? T e 72
(A) United States of Amen@\ (A) HIH T STHRE
(B) Russia \Q (B) =
(©) China \ (C) =M
(D) Japan (D) SImH

118. Who won a gold medal in the recent 118. = é? HHAdTY ﬁ‘-‘[ﬂ 4 foga =l e

+ . Commonwealth Games ? St ?

(A) Ayonika Paul (A) TR dic

(B) A;purvi Chandela (B) 3Tgel ==<en

(C) Prakash Nanjappa (C) Wehral i=Tedl

(D) None of above (D) S H i TE
- e SPACE FOR ROUGH WORK / & &t o el g
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119. Which of the following countries turned

120.

121.

122.

down a seat in security council ?
(A) Iraq

(B) Saudi Arabia

(C) Iran

(D) None of above

Which of the following countries
withdrew its membership from
Commonwealth Nations ?

(A) Jamaica
(B) Gambia
(C) Scotland

(D) None of above :

Recently paintings depicting alie ere
found in which of the followj ions
of this state ?

(A) Charama é\o
(B) Kabirdham@

(C) Sukma
(D) None of above

Who won the 2014 FIFA World Cup
football Golden Boot award ?

(A) Lionel Messi

(B) Thomas Muller
(C) James Rodriguez
(Ij) None of above

120. ﬁmﬁf’mnnﬁmmqﬁmq%

)
() (D) sqﬁaanmém

121. T & ° 39 59 & fh7 &= 9 "'
(et " it et T arh 7

122. % favd 9 Geara 2014 # ST

SPACE FOR ROUGH WORK / & &7 & e
SRLE
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123. Rafael Nadal won which of the following ~ 123. THel Teer X 99 2014 ¥ Frefafea 5 @

Championship in the year 2014 ? -9 e S

(A) Wimbledon Championship (A) foere et

(B) French Open Championship (B) S SR

(C) Australian Open Championship (C) smefarr A IR
(D) None of above (D) SRR § g T

124. Who of the following got the Sahitya  124. fr=fafad 4 @ fea ad 2013 &1 GifeA

Academy Award for the year 2013 ? AFHIEH TEHR W §2AT?
(A) Mridula Garg (A) Hge
(B) Kashinath Singh (B)
(C) Govind Mishra © o=
(D) None of above IR | D18 &I
125. Which of the following is an Indian *9 frafafiaa ¥ HF-91 T WRdG ag-8-a1g
air-to-air Missile ? R oA 82
(A) Pinka (A) TomE
(B) Akash \ (B) SATRWI
(C) Astra \QQ) C) o=
(D) None of above \ (D) ST H i3 e |
126. Which of the following is false about  126. Ta1 “Afen & 'y ¥ fefafaa o =
Pawan Chamling ? e 87
(A) He is chief minister of Sikkim (A) o fafera & gt €
(B) He has become chief minister for the (B) 9 TR U=t R fafeeny & e

fifth consecutive time T
He belongs to Sikkim Democratic (€ 3 foferm et 5o & ¥

Front (SDF)
(D) None of above
SPACE FOR ROUGH WORK / T& &4 & fordl wrrg
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127. Who of the following has been appointed

128.

428

130.

as National Security Adviser ?
(A)
(B)
(©)
(D)

Nripendra Mishra
Ajit Doval
Rajiva Mathur

None of above

Who has topped the list of billionaires
released by the Forbes Magazine in
2014 ?

(A) Carlos Slim Helu
(B) Bill Gates

(€) Laxmi Mittal
(D) Azim Premyji

In the Union Budget 2014-2015 for@

of the following the provisio @
be set up in this state ?

(A) Central Universi \

(B) National In@g{ Information
Technology

(C) Indian Institute of Technology (IIT)
(D)

None of above

In which of the following countries
“Martial Law” has been declared
recently ?

(A)
(B)
(€)
(D)

Indonesia
Burma
Thailand

None of above

127.

128.

*

N\

129.

130.

frefafaa & A fFY T T FARER
frgaa fmen T?

7= fam
rita g

(B)
(C) Tsfta AL
(D) ST H g T

Fref wfrE 2014 BRI fafea T 1 g
T gateg A fad < g7

S
rw

J[C) et fama
(D) TS Josit

G =92 2014-2015 1 39 W9 1 fH=farad
Y § 51 Tiud 1 1 Y69y 591 1@ 22

(A) F=g fawa faaem
(B) A = WeNfiTeR! WA

(C) T Wreifit e
(D) SR H HE T

Freafafan § & v S e @ & i
<" whfm faa T

(A) Z=MfvrEn

(B) =i

(C) uRkivg

(D) SS9 H T e

SPACE FOR ROUGH WORK / % &1 & fod sg



PART - VII
Miscellaneous

131. Who of the following leaders of this state
became the first Chief Minister of Madhya
Pradesh ?

(A) E. Raghavendra Rao
(B) Pt. Ravishankar Shukla
(C) Dwaraka Prasad Mishra
(D) Khoob Chand Baghel
132, Which administrative system prevailed in

this state during Maratha rule from
1787 to 1818 ?

(A)
(B)
(©
(D)

Balutedari System
Iqta System

Suba System
ljaradari System

133. Who of the following is credited to

brought Mahatma Gandhi on@
visit to this state in December @

(A) Pt. Ravishankar Shu \
(B) Pt. Sunderlal S
(C) Narayana Rax wale

(D) E. Raghavendra Rao
134. Who of the following British officers
transferred the capital of this state from
Ratanpur to Raipur ?
(A) Captain Edmund
(B) Major Agnew
(C) Captain Hunter
(D) Major Crawfurd

O

133. femm=r 1920 ¥ frafafes ¥ 4 52 gemen

W - VII
fafaa

131. mm%ﬁw%ﬁaﬁﬁﬁaﬂﬂ%mmm
¥ wog geadst @17

(A) % TS T
~B) 1. o Yo
(C) &Re y&E Ay
(D) Gaa< qudd

132. 1787 | 1818 T HUSI IEHA H 39 TH
H A e faemm ot?

( %:Tﬂaraw
.(gtﬁmwaw
'€)* s T
) SSIRIER STaed

e A T T | YW YaE F fod o o
g T < 2

(A) . vy

_BY” 1. gtame vt

(C) RIS Hemam

(D) 3. Toa= TE

134. Frfafed # @ fog fafen s 3 39

T Y T TR | TR SR R

SPACE FOR ROUGH WORK / % &1d & f&dr s
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135.

136.

137.

138.

Who was the leader of famous tribal revolt

~of Baslar in 1910 in this state ?

(A) Bhairamdev Singh

(B) Kunwar Bahadur Singh
(C) Gundadhur

(D) Ramnath Singh

In which year the Raipur Conspiracy
Case occurred in this state ?

(A) 1920

" (B) 1925

(C) 1932 ’

(D) 1942

Who served as the first Chief Informat1 n
Commissioner of this state ?

(A) Anil Joshi
(B) Serjius Minj

€ AK Vijayvarwg\
(D) S.K. Tiwari \

During whose reign the Chinese traveller
Huen Tsang visited Sirpur situated in this
state ?

(A) Harshagupta

(B) Mahashivgupta Balarjuna

(C) Nannaraj

(D) Prasannamatra

135. %0 e 3 AwR 1910 g3 Hes S

fae =1 ar A o417
(A) rora fde
(B) R ey e
© e
(D) Ty fae

136, Frg i & T w9 § TAR TEET I gI;A

a1?
(A) 1920

(B)
32
‘ng' 1942

37. wm%umz{@waﬂgm%mﬁ

feren Far &2

(A) Ifta it
(B) T fis
AC) T, fasanita
(D) TE. fremt

138. forash werehter 3 =i ant i 3 5

T4 A e forq =1 Az < o2

(A) wT=
(B) FERTETS aend

(C) =
(D) 98-

Set-B
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139, Which Kalachuri King of this state had
assumed the title "Sakalkosaladhipati’ ?

——— e e

139. 10 1M % fEn waaft w4
Cypernrenfiafa’ mr dm v feEm @m?

(A)  Ratnaraj 1 (A) TS 9g’
(B)  Prithvidev 1 1] 117){15:7,1 VoL
(©) Ratnaraj 11 (C) T fiefra
(D) Prithvidev 11 (D) ywirea fgd
140. Who was the first superintendent of this 140, 1818 111830 % 371 T W Fafen damre
state during the British protectorate from ¥ o guftdée (adiar) A 917
1818 to 1830 ?
(A) Major Agnew (A) 2 v
(B) Captain Edmund (B) %2?@/
(C) Captain Hunlter () @Z{
(D) Major Crawfurd ® > HIHE
141. Which Indian Soldier of British force @%ﬂﬂ & TaqT Y fega fafen @ & 59
stationed at Raipur in this statg * yRerg faardt 3 o9 sAfieet TR fazaa
assassinated his officer Major Sidwe w7 A At?
(A) Narayan Singh . O (A) TR fag
(B) Ghazi Khan \ (B) TSR @A
(C) Shiv Narayan & (C) fia ArmEm
(D) Hanuman Singh\ AD) TR faE - ‘ﬁ?\ﬁ l,ﬁz.g et ¢
IRAYS
142. Which tribal revolt occurred in Bastar 142, T8 W4 & gER 87 H 1824-25 H W8I &%
region of this state in 1824-25 against the foreg A enfeart fage g3m?
Marathas ?
(A) Paralkot Revolt Ay e fage
(B) Tarapur Revolt (B) TR faere
(C) Meria Revolt (€ Afanfae
(D) Koi Revolt (D) wIEfase
SPACE FOR ROUGH WORK / 1% & & fordr s
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143. Which organization was established in
1909 at Rajnandagaon of this state to
promote national consciousness, ?

(A) Mitra Mela

(B) Abhinav Bharat
(©)
(D)

Bal-Samaj Library

Saraswati Library

"C6PSC MANTHAN

143, Ty e faefed R W T &
T F 1909 . H I WIS Tafi
forar wa?

(A) T aen

(B) i WA

(C) et FHroT ETHTed
Dy wrEdl R

144. Which satyagraha was organised in 1920  144. 39 T°9 % @@ W H 1920 % H i
at village Kandel in this state ? geawe A e T ar?
(A) Forest satyagraha (A) N qAWE
(B) Salt satyagraha ( RIeIPE
(C) Canal satyagraha T AR
(D) No-tax satyagraha ’\ o ) H-Tal GAUg
145. After whose name an Award O 145. fordes M W 59 U9 1 Afgar iR M—e
non-violence and cow-protectj [ Tifaa fopar an §7
been instituted in this state Q
(A) Guru Ghasidas * 0 (A) T iR
(B) Yati Yatanlal @\ AB) A IaTeIS
(C) Maharaja e (C) HERIST 7@
(D) Pravir Chandra Bhanjdev - (D) WaR = Yty
146. At which place in this state forest 146. 3T 1930 § 39 o9 § 59w/ w S
satyagraha was held in August 1930 ? HEWE 3T o412
(A) Rudri Nawagaon —(A) Tl FanTa
(B) Tamora (B) wHRI
(C) Podigaon (C) s
(D) Mohabana (D) W=
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147. From which place of this state the first 147, T8 T ¥ foF® M | 1900 5. H Wer TR

newspaper ‘Chhattisgarh Mitra® was o orag s’ wef gem o
published in 1900 ?
(A) Bilaspur _AN) IESIER(E
(B) Pendra (B) Q'U‘Sl
(C) Bacheli (C) E & [l
(D) Champa (D) =m
148. Which commander-in-chief of Raghuji 148, MR & TaH sl wem & ferw ST 3
Bhonsle I of Nagpur had virtually ended T T H FHergR T 6 T JHG W
the Kalchuri Sovereignty in this state ? fean?
(A) Bhaskar Pant l/(A')
(B) Bimbaji Bhonsle (B)
(O Raghunatil Singh (©) fag
(D) Janoji Bhonsle | X » SIS i
149. Who led the first workers strike in this Q TH T | 1920 H g8 VoW ASIGL TSATA I
state in 1920 ? é 7 e fean?
(A) Thakur Pyarelal Singh Q _(A) IR @R fHg
(B) R.S. Ruikar . O (B) STR.TH. T
(C) Waman Rao Lakhe \ (C) I E &g
(D) Madhav Rao s:,@ (D) e WY
', 150. Who was the first Acting Chief Justice of ~ 150. ¥ I+ & I TR F WH FEGR T
High Court of this state ? IRICINECIE IOV
 (A) Justice AK. Patnaik (A) =Efd T qeTrE
(B) Justice S.R. Nayak (B) =avfd 3R, TEw
(C) Justice Jagdish Bhalla (C) —mfd ST seen
(D) Justice RS. Garg Py = s,
-00o0- " -00o0-
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